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QUESTION 1

Which of the following can be a consequence of running in Maximum Performance mode? 

A. Increased acoustic noise 

B. Decreased I/O latency 

C. Increased memory frequency 

D. Decreased power draw 

Correct Answer: B 

 

QUESTION 2

To improve response times for an OLAP application, a POWER9 customer requires a SAN-attached storage solution
with microsecond latency and highest density per rack. 

Which of the following supports these requirements? 

A. FlashSystem 900 

B. IBM ESS 

C. IBM Nutanix 

D. Storwize V7000 

Correct Answer: A 

 

QUESTION 3

A customer has a two node Power System E880 with EXP24S Disk Drawers and I/O Drawers used exclusively for dual
VIOS local boot. 

How can a Solutions Architect design a POWER9 solution to minimize the physical rack space with an upgrade to a
Power System E980? 

A. Change the EXP24S to Mode 4 to allow consolidation to a single EXP24S. 

B. Upgrade the I/O Drawers with SAN boot capable Fibre Channel Adapters. 

C. Configure a single node Power System E980. 

D. Configure NVMe Flash Drives into the Power System E980 nodes. 

Correct Answer: C 
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QUESTION 4

Due to an emergency situation, a customer needs to activate all processor and memory resources in a Power System
E980 for ten days. 

Which of the following could be used to achieve this need with the least possible cost? 

A. Elastic CoD 

B. Trial CoD 

C. Utility CoD 

D. Static Activation 

Correct Answer: A 

Reference: https://www-01.ibm.com/common/ssi/ShowDoc.wss?docURL=/common/ssi/rep_ca/6/877/
ENUSZG18-0086/index.htmlandrequest_locale=en 

 

QUESTION 5

A customer with a Power System E870 with five IBM i licenses wants to replace it with a new Power System E980 for a
new workload. They will require eight IBM i licenses. 

What is the most cost-effective way for the customer to accomplish this? 

A. Purchase 3 new IBM i licenses and transfer 5. 

B. Purchase 2 new IBM i licenses and transfer 6. 

C. Purchase 5 new IBM i licenses and transfer 3. 

D. Purchase 8 new IBM i licenses. 

Correct Answer: A 
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